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The three moment equation method:

d3\lil\ poy=d\ b

: Ao S
ST (e Rayal LAWY (S 9 ABDal) Ll it U Lt

JBLdaas of gy Aoyl (& (e ool 2 ylatl ol

o2l Ao L (nes Jod1g A g0 Lgdso g had | O (o s 48Dt - LlC Y
Assume all moment are positive.
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A continuity condition implies that: 85, = 05 3y i ¥ | do g 0

M (72) + v (G %) + e (2)
I AV ¢

Ai.a; A,.b 1 A
8 —6[ 4 A2 2] L 6E [ _AB< >+ C
L. 14 Lz I, L, L,

LTSS ASSE pgjal Zalad) AESall ()9S

lf: AA= AB: AC= O
And: I,"= I, then

MAL1 + ZMB(Ll + Lz) + MCLZ - _6

A.a;, A,.b
LR L 2]
Ly L,

@ .922.79197-.9919VF1AV: caild - dullbl| Sloasll §8lel] iy diiso




- il a3 Jeslsliin] : solo)l owl 3% Year -

Example 1:
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Example 2:
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A El = const.
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Using the three moment equation method. draw the final B.M.D for
the given structure. Assume El=const.
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Span. A'AB:

M (72) 2 (724 72) + e ()
A\ AV VA

=—6 6E [—=—A ( —) —=
[L1.11 * LZ.IZ] * [ B\L, L, +L2

Ay=Ap=A,=0 ,I=const.
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—*_ [ (20+2.5)/2 =8.75

Example 3:
For the continuous beam shownand by using the three moment

equation method draw final B.M.D.
Assume El = const.
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MA = O
16Mg + 4M, = —1499 .......... 1
Span BCD:

o (7) + 2 (45) + 0 ()
(B®)6), )0, (evw)é

=6 41 T 41 4]
MD = 0
4Mg + 16M, = —330.15  ..ooo.... 2
From 1,2:

M, =—19.51 KN.m

4.49

Mg = —4.49 KN.m
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